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USing all of the information we know about a b, h & k,
we will graph (reatest lntcgcr Munctions and find the
equation of a G| from a given graph.
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Examples: i) Graph f(x):—2[3(x—1)]+4
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2) (Graph g(x)= —1.5[—%(“7)}—0.5
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a= > Counkulp
- y
b=l skpBngt =4 24} o —0
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khfg> shirl of (25) R X
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b O0=-3 c¢s= 3
(Given the function f(x)=—3[1-5]+3, drawgtggrzig .2
S69=-3[-05(x-3)[+ 3, T x 7
(h,k) —'(3:3) (.l)b
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*Fora transformed (G|[” (f(x)=a[b(x—h)]+k) )

the range can be written as
Ran= {J"y =am+k,me Z} set-builder notation

ie. | he range is the set of allV values, such that

y=am+ k, where " is an integer.

a--3 k=3 5 @
M:
50... Ran:{y‘y=—3m+3,m€Z} m: | w
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Rachel, Pernard, Christian &Ju]ie cannot agree on the

equation of the gunctionf
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that is representec! }39 the °
6
graph. They obtained ; T T
these ec]uatiorzs' ,
1 o—o X
Rachel: f(x)=2[3(x-1)]+1 R bA 50335456788
-2
Bemard: f X =—2[—3 x+2)]-—3 T :i
L 1 T -
Christian: f(x)=—2[—§(x—4)}+]l - o
-8
-9

ulie: f(x)=—2[—%(x+2)}—3
\Which of the four friends is/are right’?
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